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(CONTINUED)
MUCH SOMEWHAT NOT NOT (DK/
MORE MORE VERY AT ALL NS)

. More jobs have been

created in Canada than

lost as a result of

the free trade

agreement.......c.oiiiiiiiinn., 28...... 260 ...0iunn, 15...... 30.....00tnen 1

. The government has

established a plan to

help Canadians adjust

to change brought about

by the free trade

agreement...........c.ieiann. 12...... K] 20...... 30,00 4

. The free trade agreement

provides Canada with

greater protection from

U.S. trade action than

is available to any

othercountry.........ecuven.. 15...... k] N 17...... A 7

END ROTATION

ASK EVERYONE: ‘
40. (ROTATE STATEMENTS FROM X:)

Some people say that we should attempt to re-negotiate the free
trade agreement with the U.S. because we may be able to get a more
favourable agreement.

Other people say that if we re-open the current free trade
agreement, it 1is unlikely that we will get a more favourable
agreement, because the Americans will want too much, and a re-
negotiated deal will Tikely be worse than the current agreement.

Which point of view is closest to your own?

Re-negotiate.....covviiiriiiennrieneeeneneeceacacnnn 4]
Leave @S 1S...ciiieineienneniennensonrncecrnsnsnnonns 51
(Tear it up, walk away - VOLUNTEERED - DO NOT READ)...4
(DK/NS) ettt ettt ieeeneraesosooaooeaoasasacanonnenns 4

Recently there have been a number of trade disputes between Canada and the
U.S. involving products 1like Honda cars and softwood lumber exports. In
general, do you think that Canada has won more, or lost more of these
trade disputes since the free trade agreement went into effect?

Won more....... 8 - CONTINUE
Lost more..... 75 - -

(Even draw)....6 - SKIP TO 42
(DK/NS)....... 12

And do you believe that this is due to the free trade agreement?

YES .t iieeriitetiitneneenas 72
T 23
(DK/NS) e uiirnneinnnnnnnnnns 5



